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QUESTION 1

Which two statements are true about Generic Device Operations? (Choose two.)
A. Generic Device Operations execute multiple commands on multiple devices.
B. Generic Device Operations are executed using the REST API.

C. Generic Device Operations are executed using Ansible.

D. Generic Device Operations execute a single command on multiple devices.
Correct Answer: CD

Reference: https://www.juniper.net/documentation/en_US/contrail19/topics/task/configuration/genericdevice-operational-
commands.html

QUESTION 2
You have deployed a Contrail cluster that must support bare-metal servers.

Which protocol is used to communicate between the bare-metal server\\'s virtual tunnel endpoints and the Contrail
cluster to establish sessions with the VM servers?

A. SRTP

B. EVPN/VXLAN
C.BGP

D. XMPP

Correct Answer: B

QUESTION 3

Which two statements about a Contrail environment are true? (Choose two.)

A. Control nodes peer with other control nodes using XMPP.

B. Control nodes peer with other control nodes using MP-BGP.

C. Control nodes peer with compute nodes using XMPP.

D. Control nodes peer with compute nodes using MP-BGP.

Correct Answer: BC

The control nodes peer with the remote compute nodes by means of XMPP and peer with local gateways by means of

MP-eBGP. Reference: https://www.juniper.net/documentation/en_US/contrail20/information-products/pathway-
pages/contrailservice-provider-feature-guide.pdf
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QUESTION 4

Click the Exhibit button.

Gl [ Waw Go Copture Aralyze GStotatics Telephorny Took jnlermals Hep
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Mo ltm lsaucn lnﬂtﬁ.‘dm lwdbn!l Lnuhlﬂn =
436 465.8241350020.0.0.3 30.0.0.5 ICMP 218 Echo [ping] request id=0x4701, seq=121/30976,

. l »

» Frame 437: 218 bytes on wire (1744 bits), 218 bytes captured (1744 bits) on interface 0

» Ethernet 11, Src: IETF-VRRP-VRID_00 (00:00:5e:00:01:00), Dst: 02:22:00:dd:05:bc) (02:22:00:dd:05:bc

* Internet Protocol Version 4, Src: 30.0.0.5 (30.0.0.5), Dst: 20.0.0.4 (20.0.0.4)

» User Datagram Protocol, Src Port: jaus (3794), Dst Port: 8099 (8099)

T Juniper Virtual Network Information

VN Host IP address: 10.85.29.11 (10.85.29.11)
* Flags: 0x400000a0 (Direction: Ingress, Actions: Pass Mirror)
Src VN :default-domain:admin:Network-3
Dst VN :default-domain:admin:Network-2
[Payload Type: Ethernet]
Ethernet 11, Sre: 02.c2.d2.7f:f0:6c (02.c2.d2.7F:(0:6c) Dst: IETF-VRRP-VRID_00 (00:00:5e:00:01:00)

Internet Protocol Version 4, Src: 30.0.0.5 (30.0.0.5), Dst: 20.0.0.3 (20.0.0.3)
Internet Control Message Protocol

rvyvw

The exhibit displays a Contrail analyzer virtual machine\\'s console. Which two statements are true in this scenario?
(Choose two.)

A. The ping traffic is initiated by a virtual machine with an IP address of 20.0.0.3.
B. The ping traffic is initiated by a virtual machine with an IP address of 20.0.0.4.
C. The Contrail analyzer virtual machine\\'s IP address is 10.85.29.11.

D. The Contrail analyzer virtual machine\\'s IP address is 20.0.0.4.

Correct Answer: AC

QUESTION 5

Which two nodes are part of the Contrail controller role? (Choose two.)
A. config

B. control

C. analytics

D. load balancer

Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/nfv2.1/topics/concept/ccpearchitecture.html#:~:text=Contrail%
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20controller%20node%2C%20which%20hosts,virtualized%20network %20functions%20(VNFs).
http://juniper.github.io/contrail-vnc/architecture.html
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